Word Problems

Mixed Operations

Jill has a collection of herb pots. She has 6 herbs planted in each pot. Altogether, she has 42
herbs. How many pots of herbs does Jill have”

Jane read 57 pages of her book yesterday and another 6 pages today. How many poges did she

read altogether?

Farmer Ted planted a total of 32 apple trees in 8 equal rows. How many apple trees were in each

TOW?

Simon had saved $248 dollars. He spent $125 on a new bike. How much money does Simon have

left?

Nathalie baked & muffins. On each muffin, she put 7 chocolate chips. How many chocolate chips
did she use in all?
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Word Problems Answers
Mixed Operations

Jill has a collection of herb pots. She has 6 herbs planted in each pot. Altogether, she has 12
herbs. How many pots of herbs does Jill have”

7 pots of herbs

Jane read 57 pages of her book yesterday and another 6 pages today. How many poges did she

read altogether?

121 pages

Farmer Ted planted a total of 32 apple trees in 8 equal rows. How many apple trees were in each

row?

4 trees in each row

Simon had saved $248 dollars. He spent $125 on a new bike. How much money does Simon have

left?

$123 left

Nathalie baked & muffins. On each muffin, she put 7 chocolate chips. How many chocolate chips

did she use in all?

35 chocolate chips
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